o o o & - 0] o a v & v ax
Fmsumsindevamisiniiavianisiuiiviineuy fAandunsindadaedsianizianzas

neileundnnuel Pre-Qualification Lists (PQL)

sWalonansdeds  PQL-015-68-03  asfuil 7 5§t 2568 \nvfigiun nvin. RHDW-011/2556 , RHDW-001/2546
Fogunsal GIGY! A1aSUNeSTiEWER Yofjuan FondnAnusi/Brand

Tuani 1010110200  |BOLT,MACHINE M.16X130 MM. U3t 891 91iim ERA
Uity Aaude 91in KPC

U3t (Beumediann S AP

U3 Faufiu 3 91 ST3

U3t 3.a.ueaduud din GKA

VTV Suaaamg 91na RS

1010110201  |BOLT,MACHINE M.16X170 MM. UTen 371 1im ERA

UITv Aanude $11in KPC

UV LBeunedan $1iin AP

U3t Fafiu 3 i ST3

U3t 3.a.ueaduud sain GKA

U3t nsamaedn $1im PQ

UV Suaaams 910n RS

1010110202  [BOLT,MACHINE M.16X200 MM. W3t Boumadiann S1in AP

USHW 851 1ii; ERA

Uit Aayude 91in KPC

U3 Fadin 3 $aim ST3

o

U A ueaduud 91

i1 1310 6

' UNCONTROLLED COPY |

o w

USEM LNSamI8aR 3119

o w

U3 SuvaaEnns 310n




o a o & o v do a o & v ax
a"]WiUﬂ']iQﬂ‘Ua’Ua\iﬂ'ﬁlwﬁqL?]ﬂ'ﬁsaﬂ'ﬁlﬂﬁ'\“u’l\ﬂu NANUUNTITINYDAIYITLRNICEINSA

nedounandngl Pre-Qualification Lists (PQL)

sWalenasdeds  PQL-015-68-03  asiuil 2534t 2568 iaviisiUn nWn. RHDW-011/2556 , RHDW-001/2546
Fegunsal SWANeR FasuriaWEn Fotjuan Yowdnsiaust/Brand

Tuai 1010110203  |BOLT,MACHINE M.16X250 MM. UIHW 891 911im ERA
Uit Aanude 31in KPC

Ut Jaudu 3 9iim ST3

U (Buunedaun $1dm AP

Vit 3umueaduud s GKA

VI SuEanis 31n RS

1010110204  [BOLT,MACHINE M.16X300 MM. U3t insaeedn 31 PQ

U3t (Buumedaun $1im AP

VST SuEanns 31a RS

Uity Aaude d1im KPC

1010110205  |BOLT,MACHINE M.16X350 MM. U3t Boamadiaun 91 AP

UsEm 891 91im ERA

Uem Aanude 31in KPC

VS Faufiu 3 9 ST3

V3t 3.1aueaduud s GKA

V3t insamedn sin PQ

VST Sadnns 4119 RS

1010110206  [BOLT,MACHINE M.16X400 MM. U3t Beunediaun S1in AP

USEW 851 9. ERA

Uit Aaude 91 KPC

U3 Faufin 3 9 ST3

V3 31aLeaduud 1 GKA

U3 Suaanns 91a RS

1 23970 6

| UNCONTROLLED COPY |




w11 3 977 6

{ UNCONTROLLED COPY J

yneifoundnnnel Pre-Qualification Lists (PQL)
o o o & o v Ao a v & v  aa
ﬁ']“iUﬂ']iQﬂ‘Ua?.la\iﬂqilwﬁ’lL’Uﬂﬂiaﬂ'ﬁl‘wﬁ']ﬂu’l\flu NANUUNTITINYBAIYATLANICLINS AN

sdenasdeds  PQL-015-68-03  asiuil 7 5 318 7508 wufisiua nWa. RHDW-011/2556 , RHDW-001/2546
Fagunsal SVEWER A5 AN Fadudn Fandndfausi/Brand
Tuavi 1010110207  |BOLT,MACHINE M.16X450 MM. U 391 911 ERA
I Aty I KPC
Ut Beunediaun $aifn AP
U Fadiu 3 311 ST3
U3t 3.n.ueaifuud s1im GKA
V3T insaniedn n PQ
U Sovaaans 91 RS
1010110208  |BOLT,MACHINE M.16X500 MM. U3t LBuunsdiamn $1in AP
UIEN 991 11 ERA
usEm Aayudy dia KPC
UM Fadu 3 3w ST3
U3t 3.nusaifuud $1im GKA
U SuaaEaans 911n RS
1010110209  |BOLT MACHINE M.16X600 MM. U 891 9 ERA
U3t Baumadivenn 110 AP
UIEn Nayudy diin KPC
UST Faufin 3 §1m ST3 /@‘};;\
I Suaaas 911 A




Y1 4910 6

* UNCONTROLLED COPY ;

nzifoundnnnel Pre-Qualification Lists (PQL)

e w o & - P do a v & v aax
ﬁquUnq§Qﬂqjaqja\iﬂ1{LWW']Lﬂﬂ“iaﬂ'}i‘lﬂﬂ’]“u’]\iqu NANUUNIIAAYBAIYITLRAINITLINSAN

sanasdeds  PQL-015-68-03  asiuil 154t 7508 wavfisiUa nwn. RHDW-011/2556 , RHDW-001/2546
Fogunsal SUaWEn A1aS U TTENER Fajuan Fendnfauai/Brand
Tuat 1010130000 |BOLT,DOUBLE ARMING,ROUND EYE Uitm 391 11 ERA
M.16X400MM. U3 L Buumedaw S AP
Uity fayude 91in KPC
1010130001 |BOLT,DOUBLE ARMING,ROUND EYE UTHN 891 A1iin ERA
M.16X450MM. U3t Boamediaiun S1in AP
u3gw Aayude 91 KPC
U 18u 1o Lea Blarnsa (lne) 1w MAS
1010130002 |BOLT,DOUBLE ARMING,ROUND EYE U 851 91m ERA
M.16X500MM. VStV Baumedwaiun $in AP
S Aayude 91iin KPC
U3 154 1o Lea Blaavisa (lne) 9 MAS
1010130003 |BOLT,DOUBLE ARMING,ROUND EYE U3 891 91m ERA
M.16X600MM. U3t Beumadiaun 31in AP
USen Aayudy 91in KPC
U 8y 1o 1ea Blarnsa (lne) 1w MAS
1010130004 |BOLT,DOUBLE ARMING,ROUND EYE - U3 891 S1iim ERA
M.16X550MM. U3t Baumedwan $1dn AP
1010130005 |BOLT,DOUBLE ARMING,ROUND EYE UTEn 891 911
M.16X650MM. V3o Boumedwaiun 1dn
U3ty Aawude I1in




711 5970 6

. UNCONTROLLED COPY J

yeifoundnnuet Pre-Qualification Lists (PQL)

o w o & io a 1 aa
Frusumsindavasnisiiiiuavdenisiniintneuy Aeliunnsdndenieisianizianzas

sWalNaNs81e8s  PQL-015-68-03  asfufl 75 418. 2568 iavfisiun nwn. RHDW-011/2556 , RHDW-001/2546
Fegunsal Sanen FasUN SIaWER Foijuan Yowdnsiaust/Brand
Tuavi 1010140000 |BOLT,ROUND EYE M.16X100 MM. V3o Bouneditann $1in AP
1010140001  |BOLT,ROUND EYE M.16X200 MM. UTHN 891 4119 ERA
' U3t Beumsdiawn S1in AP
uIev Aanude 1in KPC
U3 Taufu 3 9 ST3
U3t 18 Lo Lea Biarvsa (Ine) $1in MAS
1010140002  |BOLT,ROUND EYE M.16X250 MM. UTHn 811 A1fin ERA
U3t Beaumsdivawn $1ifn AP
uIgw Aanude drin KPC
U3 Fandu 3 97im ST3
1010140003  |BOLT,ROUND EYE M.16X300 MM. UTHN 8971 9119 ERA
U3t (Beunedaun 31im AP
ui¥n Aayude 31in KPC
YT Faiu 3 91im ST3
1010150000  [BOLT,OVAL EYE M.16X150 MM. UIHY 891 9119 ERA
U3t Beunsdaun S0 AP
Uity Aayude d1in KPC
U3 Faudu 3 9im ST3
1010150001  |BOLT,OVAL EYE M.16X200 MM. UTHN 891 A11in ERA
o d S o, 15 \»\F‘CA T
UTWY LBYUNIANRIUT I1NH AP Aq
U3t Aanude 91in KPC / = Eor

¢ 2
B Bandiy 3 4 stafacf | Wt
[ ]
-
S




¥ 6370 6

'UNCONTROLLED COPY ;

neifoundning Pre-Qualification Lists (PQL)

o o -1 io a o X a
Fusunmsdagevanisiniiuardanisiuiintiieuy Aadunsindedaeisianizianzas

sHaanansdeds  PQL-015-68-03  ae¥ufl 25 4. 2568 laviiaia nvin. RHDW-011/2556 , RHDW-001/2546
Fagunsal SaWEn F1aS U TaNER Yadudn Yowdnswual/Brand
Tuavl 1010150002  |[BOLT,OVAL EYE M.16X350 MM. UTHN 391 A1 ERA
UItW Baunsdiann S0 AP
uI¥n Aayude I KPC
Ut Tady 3 31m ST3
1010180001  [NUT,EYE M.16 DIN 582 UTHW 851 41 ERA
U (Buunadiaun $aia AP
uIEn Nayude e KPC
USTW Fauhiu 3 S1im ST3
1010210200  |BOLT,STRAND EYE,SINGLE M.16X350 MM. U3 851 9119 ERA
Uity Aayude dirin KPC
UM Faudiy 3 9im ST3
U3tV Bunedian $1n AP
1010210201  [BOLT,STRAND EYE, 45 DEG.M.16X250 MM. VTV 831 A1 ERA
U3 Buumediaun $aim AP
Uit Aayudy e KPC
1010210202  |BOLT,STRAND EYE, 45 DEG.M.16X350 MM. U3Em 851 911 ERA
U 1Buumadiaiun $1in
UsEm fayuds e
UITW Fafiu 3 $im




